International Journal of Mathematical Modelling & Computations Vol. 09, No. 02, Spring 2019, 155-164



# Initial Value Problems for Fourth-Order Fuzzy Differential Equations by Fuzzy Laplace Transform

H. Gültekin Çitil\*

Department of Mathematics, Faculty of Arts and Sciences, Giresun University, Giresun, Turkey.

**Abstract.** This paper is on the solutions of fuzzy initial value problems for fourth-order fuzzy differential equations with positive and negative fuzzy coefficients by fuzzy Laplace transform. Examples are solved. Conclusions are given.

Received: 30 March 2019, Revised: 10 May 2019, Accepted: 28 June 2019.

**Keywords:** Fuzzy differential equation; Fuzzy Laplace transform; Positive fuzzy number; Negative fuzzy number.

AMS Subject Classification: 34A07, 44A10.

Index to information contained in this paper

- 1 Introduction
- 2 Preliminaries
- 3 Main results
- 4 Conclusions

### 1. Introduction

Fuzzy differential equations are important topic. Thus, many researchers study fuzzy differential equation. Especially, to solve fuzzy differential equation is useful by fuzzy Laplace transform. In many papers, fuzzy Laplace transform was used [2, 4, 8, 9, 11].

In this paper, we study the solutions of the fuzzy problem

$$y^{(iv)}(t) + [\lambda]^{\alpha} y^{''}(t) = [\mu]^{\alpha}, \qquad (1)$$

<sup>\*</sup>Corresponding author. Email: hulyagultekin55@hotmail.com; hulya.citil@giresun.edu.tr

$$y(0) = [A]^{\alpha}, y'(0) = [B]^{\alpha}, y''(0) = [C]^{\alpha}, y'''(0) = [D]^{\alpha}$$
 (2)

by the fuzzy Laplace transform for positive and negative fuzzy number coefficients, where

$$[\lambda]^{\alpha} = \left[\underline{\lambda}_{\alpha}, \overline{\lambda}_{\alpha}\right], \quad [\mu]^{\alpha} = \left[\underline{\mu}_{\alpha}, \overline{\mu}_{\alpha}\right], \quad [A]^{\alpha} = \left[\underline{A}_{\alpha}, \overline{A}_{\alpha}\right], \\ [B]^{\alpha} = \left[\underline{B}_{\alpha}, \overline{B}_{\alpha}\right], \quad [C]^{\alpha} = \left[\underline{C}_{\alpha}, \overline{C}_{\alpha}\right], \quad [D]^{\alpha} = \left[\underline{D}_{\alpha}, \overline{D}_{\alpha}\right]$$

are symmetric triangular fuzzy numbers, y(t) is positive fuzzy function, y, y', y'', y''' are (i)-differentiable.

#### 2. Preliminaries

**Definition 2.1** ([7]) A fuzzy number is a mapping  $u : \mathbb{R} \to [0, 1]$  satisfying the properties  $\overline{\{x \in \mathbb{R} \mid u(x) > 0\}}$  is compact, u is normal, u is convex fuzzy set, u is upper semi-continuous on  $\mathbb{R}$ .

Let  $\mathbb{R}_F$  show the set of all fuzzy numbers.

**Definition 2.2** ([6]) Let be  $u \in \mathbb{R}_F$ .  $[u]^{\alpha} = [\underline{u}_{\alpha}, \overline{u}_{\alpha}] = \{x \in \mathbb{R} \mid u(x) \ge \alpha\}, 0 < \alpha \le 1$  is  $\alpha$ -level set of u. If  $\alpha = 0$ ,  $[u]^0 = cl \{\text{suppu}\} = cl \{x \in \mathbb{R} \mid u(x) > 0\}$ .

**Remark 2.3** ([6]) The parametric form  $[\underline{u}_{\alpha}, \overline{u}_{\alpha}]$  of a fuzzy number satisfying the following requirements is a valid  $\alpha$ -level set.

 $\underline{u}_{\alpha}$  is bounded monotonic increasing (nondecreasing) left-continuous  $\forall \alpha \in (0, 1]$ and right-continuous for  $\alpha = 0$ ,

 $\overline{u}_{\alpha}$  is bounded monotonic decreasing (nonincreasing) left-continuous  $\forall \alpha \in (0, 1]$ and right-continuous for  $\alpha = 0$ ,

 $\underline{u}_{\alpha} \leqslant \overline{u}_{\alpha}, \, 0 \leqslant \alpha \leqslant 1.$ 

**Definition 2.4** ([12]) A fuzzy number u is called positive (negative), denoted by u > 0 (u < 0), if its membership function u(x) satisfies u(x) = 0,  $\forall x < 0$  (x > 0).

**Definition 2.5** ([6, 10]) Let be  $u, v \in \mathbb{R}_F$ . If there exists  $w \in \mathbb{R}_F$  such that u = v + w, w is the Hukuhara difference of u and v,  $w = u \ominus v$ .

**Definition 2.6** ([3, 6]) Let be  $f : [a, b] \to \mathbb{R}_F$  and  $x_0 \in [a, b]$ . If there exists  $f'(x_0) \in \mathbb{R}_F$  such that for all h > 0 sufficiently small,  $\exists f(x_0 + h) \ominus f(x_0), f(x_0) \ominus f(x_0 - h)$  and the limits hold

$$\lim_{h \to 0} \frac{f\left(x_{0}+h\right) \ominus f\left(x_{0}\right)}{h} = \lim_{h \to 0} \frac{f\left(x_{0}\right) \ominus f\left(x_{0}-h\right)}{h} = f^{'}\left(x_{0}\right),$$

f is Hukuhara differentiable at  $x_0$ .

**Definition 2.7** ([6]) Let be  $f : [a, b] \to \mathbb{R}_F$  and  $x_0 \in [a, b]$ . If there exists  $f'(x_0) \in \mathbb{R}_F$  such that for all h > 0 sufficiently small,  $\exists f(x_0 + h) \ominus f(x_0), f(x_0) \ominus f(x_0 - h)$  and the limits hold

$$\lim_{h \to 0} \frac{f\left(x_0 + h\right) \ominus f\left(x_0\right)}{h} = \lim_{h \to 0} \frac{f\left(x_0\right) \ominus f\left(x_0 - h\right)}{h} = f'\left(x_0\right),$$

f is (i)-differentiable at  $x_0$ . If there exists  $f'(x_0) \in \mathbb{R}_F$  such that for all h > 0sufficiently small,  $\exists f(x_0) \ominus f(x_0 + h)$ ,  $f(x_0 - h) \ominus f(x_0)$  and the limits hold

$$\lim_{h \to 0} \frac{f(x_0) \ominus f(x_0 + h)}{-h} = \lim_{h \to 0} \frac{f(x_0 - h) \ominus f(x_0)}{-h} = f'(x_0),$$

f is (ii)-differentiable.

**Theorem 2.1** ([5]) Let  $f : [a, b] \to \mathbb{R}_F$  be fuzzy function and denote  $[f(x)]^{\alpha} =$  $\left|\underline{f}_{\alpha}\left(x\right),\overline{f}_{\alpha}\left(x\right)\right|$ , for each  $\alpha\in\left[0,1\right]$ .

1) If f is (i)-differentiable,  $\underline{f}_{\alpha}$  and  $\overline{f}_{\alpha}$  are differentiable,  $[f'(x)]^{\alpha} =$ 

 $\begin{bmatrix} \underline{f}'_{\alpha}(x), \overline{f}'_{\alpha}(x) \end{bmatrix},$ 2) If f is (ii)-differentiable,  $\underline{f}_{\alpha}$  and  $\overline{f}_{\alpha}$  are differentiable,  $\begin{bmatrix} f'(x) \end{bmatrix}^{\alpha} =$  $\left[\overline{f}_{\alpha}^{'}(x), \underline{f}_{\alpha}^{'}(x)\right].$ 

**Theorem 2.2** ([5]) Let  $f': [a,b] \to \mathbb{R}_F$  be fuzzy function and denote  $[f(x)]^{\alpha} =$  $\left[\underline{f}_{\alpha}(x), \overline{f}_{\alpha}(x)\right]$ , for each  $\alpha \in [0, 1]$ , the function f is (i)-differentiable or (ii)differentiable.

1) If f and f' are (i)-differentiable,  $\underline{f}'_{\alpha}$  and  $\overline{f}'_{\alpha}$  are differentiable,  $[f''(x)]^{\alpha} =$  $\left[\underline{f}_{\alpha}^{''}\left(x\right),\overline{f}_{\alpha}^{''}\left(x\right)\right],$ 

2) If f is (i)-differentiable and f' is (ii)-differentiable,  $\underline{f}'_{\alpha}$  and  $\overline{f}'_{\alpha}$  are differentiable,  $\left[f^{''}\left(x\right)\right]^{\alpha} = \left[\overline{f}^{''}_{\alpha}\left(x\right), \underline{f}^{''}_{\alpha}\left(x\right)\right],$ 

3) If f is (ii)-differentiable and f' is (i)-differentiable,  $\underline{f}'_{\alpha}$  and  $\overline{f}'_{\alpha}$  are differentiable,  $\left[f^{''}\left(x\right)\right]^{\alpha} = \left[\overline{f}^{''}_{\alpha}\left(x\right), \underline{f}^{''}_{\alpha}\left(x\right)\right],$ 

4) If f and f' are (ii)-differentiable,  $\underline{f}'_{\alpha}$  and  $\overline{f}'_{\alpha}$  are differentiable,  $[f''(x)]^{\alpha} =$  $\left[f_{\alpha}^{''}(x),\overline{f}_{\alpha}^{''}(x)\right].$ 

**Definition 2.8** ([11]) Let  $f : [a,b] \to \mathbb{R}_F$  be fuzzy function. The fuzzy Laplace transform of f is

$$F(s) = L(f(t)) = \int_{0}^{\infty} e^{-st} f(t) dt = \left[\lim_{\tau \to \infty} \int_{0}^{\tau} e^{-st} \underline{f}(t) dt, \lim_{\tau \to \infty} \int_{0}^{\tau} e^{-st} \overline{f}(t) dt\right].$$

$$F(s,\alpha) = L\left(\left(f(t)\right)^{\alpha}\right) = \left[L\left(\underline{f}_{\alpha}(t)\right), L\left(\overline{f}_{\alpha}(t)\right)\right].$$

$$L\left(\underline{f}_{\alpha}\left(t\right)\right) = \int_{0}^{\infty} e^{-st} \underline{f}_{\alpha}\left(t\right) dt = \lim_{\tau \to \infty} \int_{0}^{\tau} e^{-st} \underline{f}_{\alpha}\left(t\right) dt,$$

$$L\left(\overline{f}_{\alpha}\left(t\right)\right) = \int_{0}^{\infty} e^{-st}\overline{f}_{\alpha}\left(t\right)dt = \lim_{\tau \to \infty} \int_{0}^{\tau} e^{-st}\overline{f}_{\alpha}\left(t\right)dt.$$

**Theorem 2.3** ([1]) Suppose that  $f, f', ..., f^{(n-1)}$  are continuous fuzzy-valued functions on  $[0, \infty)$  and of exponential order and that  $f^{(n)}$  is piecewise continuous fuzzy-valued function on  $[0, \infty)$ . Then

$$L\left(f^{(n)}(t)\right) = s^{n}L\left(f\left(t\right)\right) \ominus s^{n-1}f\left(0\right) \ominus s^{n-2}f^{'}\left(0\right) \ominus s^{n-3}f^{''}\left(0\right) \ominus \dots \ominus f^{^{(n-1)}}\left(0\right),$$

if  $f, f', ..., f^{(n-1)}$  are (i)-differentiable.

$$L\left(f^{(n)}\left(t\right)\right) = \ominus\left(f^{(n-1)}\left(0\right)\right) \ominus\left(-s^{n}\right) L\left(f\left(t\right)\right) \ominus s^{n-1}f\left(0\right)$$
$$\ominus s^{n-2}f'\left(0\right) \ominus \dots \ominus s^{n-(n-1)}f^{(n-2)}\left(0\right),$$

if  $f, f', ..., f^{(n-2)}$  are (i)-differentiable and  $f^{(n-1)}$  is (ii)-differentiable.

$$L\left(f^{(n)}(t)\right) = \ominus(s^{n-(n-1)}f^{(n-2)}(0)) \ominus f^{(n-1)}(0) \ominus (-s^n) L(f(t)) \ominus s^{n-1}f(0)$$
$$\ominus s^{n-2}f'(0) \ominus \dots \ominus \left(s^{n-(n-2)}\right) f^{(n-3)}(0),$$

if  $f,f^{'},...,f^{(n-3)}$  are (i)-differentiable and  $f^{(n-1)},\;f^{(n-2)}$  are (ii)-differentiable. Similarly

$$L(f^{(n)}(t)) = \ominus(s^{n-1}f(0)) \ominus (-s^n) L(f(t)) \ominus s^{n-2}f'(0) \ominus \dots \ominus f^{(n-1)}(0),$$

if  $f', ..., f^{(n-1)}$  are (i)-differentiable and f is (ii)-differentiable.

Continuing the process until we obtain  $2^n$  system of differential equations, hence according to [2] the last equation is

$$L\left(f^{(n)}(t)\right) = s^{n}L\left(f\left(t\right)\right) \ominus s^{n-1}f(0) \ominus s^{n-2}f'(0) \ominus s^{n-3}f''(0) \dots - f^{(n-1)}(0),$$

if  $f, f', ..., f^{(n-1)}$  are (ii)-differentiable.

**Theorem 2.4** ([2]) Let f(t), g(t) be continuous fuzzy-valued functions and  $c_1$  and  $c_2$  constants, then

$$L(c_1f(t) + c_2g(t)) = (c_1L(f(t))) + (c_2L(g(t))).$$

### 3. Main results

## 3.1 The problem with positive fuzzy coefficient

Let be  $[\lambda]^{\alpha}$  is positive fuzzy number. Taking the fuzzy Laplace transform of the equation (1), we have the equations

$$s^{4}\underline{Y}_{\alpha}\left(s\right) - s^{3}\underline{y}_{\alpha}\left(0\right) - s^{2}\underline{y}_{\alpha}^{'}\left(0\right) - s\underline{y}_{\alpha}^{''}\left(0\right) - \underline{y}_{\alpha}^{'''}\left(0\right)$$

$$+\underline{\lambda}_{\alpha}\left(s^{2}\underline{Y}_{\alpha}\left(s\right)-s\underline{y}_{\alpha}\left(0\right)-\underline{y}_{\alpha}^{'}\left(0\right)\right)=\frac{\underline{\mu}_{\alpha}}{s},$$

$$s^{4}\overline{Y}_{\alpha}\left(s\right) - s^{3}\overline{y}_{\alpha}\left(0\right) - s^{2}\overline{y}_{\alpha}'\left(0\right) - s\overline{y}_{\alpha}''\left(0\right) - \overline{y}_{\alpha}'''\left(0\right)$$

$$+\overline{\lambda}_{\alpha}\left(s^{2}\overline{Y}_{\alpha}\left(s\right)-s\overline{y}_{\alpha}\left(0\right)-\overline{y}_{\alpha}^{'}\left(0\right)\right)=\frac{\overline{\mu}_{\alpha}}{s}.$$

Using the initial conditions (2),

$$\underline{Y}_{\alpha}\left(s\right) = \frac{\underline{\mu}_{\alpha}}{s^{3}\left(s^{2} + \underline{\lambda}_{\alpha}\right)} + \frac{\underline{A}_{\alpha}}{s} + \frac{\underline{B}_{\alpha}}{s^{2}} + \frac{\underline{C}_{\alpha}}{s\left(s^{2} + \underline{\lambda}_{\alpha}\right)} + \frac{\underline{D}_{\alpha}}{s^{2}\left(s^{2} + \underline{\lambda}_{\alpha}\right)},$$

$$\overline{Y}_{\alpha}\left(s\right) = \frac{\overline{\mu}_{\alpha}}{s^{3}\left(s^{2} + \overline{\lambda}_{\alpha}\right)} + \frac{\overline{A}_{\alpha}}{s} + \frac{\overline{B}_{\alpha}}{s^{2}} + \frac{\overline{C}_{\alpha}}{s\left(s^{2} + \overline{\lambda}_{\alpha}\right)} + \frac{\overline{D}_{\alpha}}{s^{2}\left(s^{2} + \overline{\lambda}_{\alpha}\right)}$$

are obtained. From this, the solution is

$$\begin{split} \underline{y}_{\alpha}\left(t\right) &= \underline{A}_{\alpha} + \frac{\underline{D}_{\alpha}}{\underline{\lambda}_{\alpha}} - \frac{\underline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}^{2}} + \left(\underline{B}_{\alpha} + \frac{\underline{C}_{\alpha}}{\underline{\lambda}_{\alpha}}\right)t + \frac{\underline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}}t^{2} \\ &+ \left(\frac{\underline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}^{2}} - \frac{\underline{D}_{\alpha}}{\underline{\lambda}_{\alpha}}\right)\cos\left(\underline{\lambda}_{\alpha}t\right) - \frac{\underline{C}_{\alpha}}{\sqrt{\left(\underline{\lambda}_{\alpha}\right)^{3}}}\sin\left(\underline{\lambda}_{\alpha}t\right), \end{split}$$

$$\begin{aligned} \overline{y}_{\alpha}\left(t\right) &= \overline{A}_{\alpha} + \frac{\overline{D}_{\alpha}}{\overline{\lambda}_{\alpha}} - \frac{\overline{\mu}_{\alpha}}{\overline{\lambda}_{\alpha}^{2}} + \left(\overline{B}_{\alpha} + \frac{\overline{C}_{\alpha}}{\overline{\lambda}_{\alpha}}\right)t + \frac{\overline{\mu}_{\alpha}}{\overline{\lambda}_{\alpha}}t^{2} \\ &+ \left(\frac{\overline{\mu}_{\alpha}}{\overline{\lambda}_{\alpha}^{2}} - \frac{\overline{D}_{\alpha}}{\overline{\lambda}_{\alpha}}\right)\cos\left(\overline{\lambda}_{\alpha}t\right) - \frac{\overline{C}_{\alpha}}{\sqrt{\left(\overline{\lambda}_{\alpha}\right)^{3}}}\sin\left(\overline{\lambda}_{\alpha}t\right), \end{aligned}$$

$$\left[y\left(t\right)\right]^{\alpha} = \left[\underline{y}_{\alpha}\left(t\right), \overline{y}_{\alpha}\left(t\right)\right].$$

Example 3.1 Consider the problem

$$y^{(iv)}(t) + [1]^{\alpha} y^{''}(t) = [2]^{\alpha},$$

$$y(0) = [0]^{\alpha}, y'(0) = [1]^{\alpha}, y''(0) = [2]^{\alpha}, y'''(0) = [3]^{\alpha}$$

by fuzzy Laplace transform, where  $[0]^{\alpha} = [-1 + \alpha, 1 - \alpha], [1]^{\alpha} = [\alpha, 2 - \alpha],$  $[2]^{\alpha} = [1 + \alpha, 3 - \alpha], [3]^{\alpha} = [2 + \alpha, 4 - \alpha].$  ~

The solution of the fuzzy problem is

$$\begin{split} \underline{y}_{\alpha}\left(t\right) &= -1 + \alpha + \left(\frac{\alpha^{2} + \alpha + 1}{\alpha}\right)t + \frac{1 + \alpha}{\alpha}t^{2} \\ &+ \left(\frac{1 - \alpha - \alpha^{2}}{\alpha^{2}}\right)\left(\cos\left(\alpha t\right) - 1\right) - \left(\frac{1 + \alpha}{\sqrt{\alpha^{3}}}\right)\sin\left(\alpha t\right), \\ \overline{y}_{\alpha}\left(t\right) &= 1 - \alpha + \left(\frac{(2 - \alpha)^{2} + 3 - \alpha}{2 - \alpha}\right)t + \frac{3 - \alpha}{2 - \alpha}t^{2} \\ &+ \left(\frac{5\alpha - \alpha^{2} - 5}{(2 - \alpha)^{2}}\right)\left(\cos\left((2 - \alpha)t\right) - 1\right) - \left(\frac{3 - \alpha}{\sqrt{(2 - \alpha)^{3}}}\right)\sin\left((2 - \alpha)t\right), \\ &\left[y\left(t\right)\right]^{\alpha} = \left[\underline{y}_{\alpha}\left(t\right), \overline{y}_{\alpha}\left(t\right)\right]. \end{split}$$

Figure 1. Graphic of solution for  $\alpha = 0.5$ ; Blue:  $\overline{y}_{\alpha}(t)$ , Red:  $\underline{y}_{\alpha}(t)$ , Green:  $\overline{y}_{1}(t) = \underline{y}_{1}(t)$ .

2 3 4

According to Remark 1, y(t) is a valid fuzzy function for  $t \in (0.240824, 2.40719)$  in Figure ??.

## 3.2 The problem with negative fuzzy coefficient

1

Let be  $[\lambda]^{\alpha}$  is negative fuzzy number. Taking the fuzzy Laplace transform of the equation (1), we have the equations

$$s^{4}\underline{Y}_{\alpha}(s) - s^{3}\underline{y}_{\alpha}(0) - s^{2}\underline{y}_{\alpha}'(0) - s\underline{y}_{\alpha}''(0) - \underline{y}_{\alpha}'''(0) + s^{2}\underline{\lambda}_{\alpha}\overline{Y}_{\alpha}(s) - s\underline{\lambda}_{\alpha}\overline{y}_{\alpha}(0) - \underline{\lambda}_{\alpha}\overline{y}_{\alpha}'(0) = \frac{\mu_{\alpha}}{s},$$
$$s^{4}\overline{Y}_{\alpha}(s) - s^{3}\overline{y}_{\alpha}(0) - s^{2}\overline{y}_{\alpha}'(0) - s\overline{y}_{\alpha}''(0) - \overline{y}_{\alpha}'''(0)$$

$$+s^{2}\overline{\lambda}_{\alpha}\underline{Y}_{\alpha}\left(s\right)-s\overline{\lambda}_{\alpha}\underline{y}_{\alpha}\left(0\right)-\overline{\lambda}_{\alpha}\underline{y}_{\alpha}^{'}\left(0\right)=\frac{\overline{\mu}_{\alpha}}{s}$$

Using the initial conditions (2),

$$s^{2}\underline{Y}_{\alpha}\left(s\right) + \underline{\lambda}_{\alpha}\overline{Y}_{\alpha}\left(s\right) = \frac{\underline{\mu}_{\alpha}}{s^{3}} + s\underline{A}_{\alpha} + \underline{B}_{\alpha} + \frac{\underline{C}_{\alpha}}{s} + \frac{\underline{D}_{\alpha}}{s^{2}} + \frac{\underline{\lambda}_{\alpha}\overline{A}_{\alpha}}{s} + \frac{\underline{\lambda}_{\alpha}\overline{B}_{\alpha}}{s^{2}}, \qquad (3)$$

$$s^{2}\overline{Y}_{\alpha}\left(s\right) + \overline{\lambda}_{\alpha}\underline{Y}_{\alpha}\left(s\right) = \frac{\overline{\mu}_{\alpha}}{s^{3}} + s\overline{A}_{\alpha} + \overline{B}_{\alpha} + \frac{\overline{C}_{\alpha}}{s} + \frac{\overline{D}_{\alpha}}{s^{2}} + \frac{\overline{\lambda}_{\alpha}\underline{A}_{\alpha}}{s} + \frac{\overline{\lambda}_{\alpha}\underline{B}_{\alpha}}{s^{2}} \qquad (4)$$

are obtained. If  $\overline{Y}_{\alpha}(s)$  in the equation (4) is replaced by the equation (3) and making the necessary operations, we have

$$\underline{Y}_{\alpha}(s) = -\frac{\overline{\mu}_{\alpha}\underline{\lambda}_{\alpha}}{s^{3}\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} - \frac{\left(\overline{D}_{\alpha}\underline{\lambda}_{\alpha} + \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\underline{B}_{\alpha}\right)}{s^{2}\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} + \frac{\underline{\mu}_{\alpha} - \overline{C}_{\alpha}\underline{\lambda}_{\alpha} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\underline{A}_{\alpha}}{s\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} + \frac{\underline{D}_{\alpha}}{\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} + \frac{\underline{D}_{\alpha}s^{2}}{\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} + \frac{\underline{B}_{\alpha}s^{2}}{\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)} + \frac{\underline{A}_{\alpha}s^{3}}{\left(s^{4} - \underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}\right)}.$$

From this, the lower solution is obtained as

$$\begin{split} \underline{y}_{\alpha}\left(t\right) &= \frac{\overline{\mu}_{\alpha}}{\overline{\lambda}_{\alpha}}t^{2} + \frac{\overline{D}_{\alpha}}{\overline{\lambda}_{\alpha}}t + \underline{A}_{\alpha} + \underline{B}_{\alpha} + \frac{\overline{C}_{\alpha}}{\overline{\lambda}_{\alpha}} - \frac{\underline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}} \\ &+ \left(\frac{\underline{C}_{\alpha}\overline{\lambda}_{\alpha} - \overline{\mu}_{\alpha}}{2\sqrt{\underline{\lambda}_{\alpha}}\left(\overline{\lambda}_{\alpha}\right)^{3}}\right) \left(\cosh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) - \cos\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &- \left(\frac{\overline{D}_{\alpha}}{2\sqrt[4]{\underline{\lambda}_{\alpha}}\left(\overline{\lambda}_{\alpha}\right)^{5}}\right) \left(\sinh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) + \sin\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &+ \left(\frac{\underline{\mu}_{\alpha} - \overline{C}_{\alpha}\underline{\lambda}_{\alpha}}{2\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}\right) \left(\cosh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) + \cos\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &+ \left(\frac{\underline{D}_{\alpha}}{2\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}\right)^{3}}\right) \left(\sinh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) - \sin\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right). \end{split}$$

Similarly, the upper solution is obtained as

$$\begin{split} \overline{y}_{\alpha}\left(t\right) &= \frac{\underline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}}t^{2} + \frac{\underline{D}_{\alpha}}{\underline{\lambda}_{\alpha}}t + \overline{A}_{\alpha} + \overline{B}_{\alpha} + \frac{\underline{C}_{\alpha}}{\underline{\lambda}_{\alpha}} - \frac{\overline{\mu}_{\alpha}}{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}} \\ &+ \left(\frac{\overline{C}_{\alpha}\underline{\lambda}_{\alpha} - \underline{\mu}_{\alpha}}{2\sqrt{(\underline{\lambda}_{\alpha})^{3}}\overline{\lambda}_{\alpha}}\right) \left(\cosh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) - \cos\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &- \left(\frac{\underline{D}_{\alpha}}{2\sqrt[4]{(\underline{\lambda}_{\alpha})^{5}}\overline{\lambda}_{\alpha}}\right) \left(\sinh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) + \sin\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &+ \left(\frac{\overline{\mu}_{\alpha} - \underline{C}_{\alpha}\overline{\lambda}_{\alpha}}{2\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}\right) \left(\cosh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) + \cos\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right) \\ &+ \left(\frac{\overline{D}_{\alpha}}{2\sqrt[4]{(\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha})^{3}}}\right) \left(\sinh\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right) - \sin\left(\sqrt[4]{\underline{\lambda}_{\alpha}\overline{\lambda}_{\alpha}}t\right)\right). \end{split}$$

Consequently, the solution is

$$\left[y\left(t\right)\right]^{\alpha} = \left[\underline{y}_{\alpha}\left(t\right), \overline{y}_{\alpha}\left(t\right)\right].$$

Example 3.2 Consider the problem

$$y^{(iv)}(t) + [-1]^{\alpha} y^{''}(t) = [2]^{\alpha},$$

$$y(0) = [0]^{\alpha}, y'(0) = [1]^{\alpha}, y''(0) = [2]^{\alpha}, y'''(0) = [3]^{\alpha}$$

by fuzzy Laplace transform, where  $[-1]^{\alpha} = [-2 + \alpha, -\alpha]$ ,  $[0]^{\alpha} = [-1 + \alpha, 1 - \alpha]$ ,  $[2]^{\alpha} = [1 + \alpha, 3 - \alpha]$ ,  $[3]^{\alpha} = [2 + \alpha, 4 - \alpha]$ . The solution of the fuzzy problem is

$$\begin{split} \underline{y}_{\alpha}(t) &= \left(\frac{\alpha - 3}{\alpha}\right) \left(t^{2} + 1\right) + \left(\frac{\alpha - 4}{\alpha}\right) t + \frac{5\alpha^{2} - 2\alpha^{3} - 3\alpha - 1}{\alpha \left(\alpha - 2\right)} \\ &- \left(\frac{\alpha^{2} + 3}{2\sqrt{\alpha^{3} \left(2 - \alpha\right)}}\right) \left(\cosh\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right) - \cos\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right)\right) \\ &+ \left(\frac{\alpha - 4}{2\sqrt[4]{\alpha^{5} \left(2 - \alpha\right)}}\right) \left(\sinh\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right) + \sin\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right)\right) \\ &+ \left(\frac{\alpha^{2} - 4\alpha + 7}{2\alpha \left(2 - \alpha\right)}\right) \left(\cosh\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right) + \cos\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right)\right) \\ &+ \left(\frac{2 + \alpha}{2\sqrt[4]{\left(\alpha \left(2 - \alpha\right)\right)^{3}}}\right) \left(\sinh\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right) - \sin\left(\sqrt[4]{\alpha \left(2 - \alpha\right)}t\right)\right). \end{split}$$



Figure 2. Graphic of solution for  $\alpha = 0.5$ ; Blue:  $\overline{y}_{\alpha}(t)$ , Red:  $\underline{y}_{\alpha}(t)$ , Green:  $\overline{y}_{1}(t) = \underline{y}_{1}(t)$ .

$$\begin{split} \overline{y}_{\alpha}\left(t\right) &= -\left(\frac{1+\alpha}{2-\alpha}\right)\left(t^{2}+1\right) - \left(\frac{2+\alpha}{2-\alpha}\right)t + \frac{2\alpha^{3}-7\alpha^{2}+7\alpha-3}{\alpha\left(\alpha-2\right)} \\ &+ \left(\frac{4\alpha-\alpha^{2}-7}{2\sqrt{\alpha\left(2-\alpha\right)^{3}}}\right)\left(\cosh\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right) - \cos\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right)\right) \\ &- \left(\frac{2+\alpha}{2\sqrt[4]{\alpha\left(2-\alpha\right)^{5}}}\right)\left(\sinh\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right) + \sin\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right)\right) \\ &+ \left(\frac{\alpha^{2}+3}{2\alpha\left(2-\alpha\right)}\right)\left(\cosh\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right) + \cos\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right)\right) \\ &+ \left(\frac{4-\alpha}{2\sqrt[4]{\left(\alpha\left(2-\alpha\right)\right)^{3}}}\right)\left(\sinh\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right) - \sin\left(\sqrt[4]{\alpha\left(2-\alpha\right)}t\right)\right) \end{split}$$

 $\left[y\left(t\right)\right]^{\alpha} = \left[\underline{y}_{\alpha}\left(t\right), \overline{y}_{\alpha}\left(t\right)\right].$ 

According to Remark 1 and since y(t) is positive fuzzy function, y(t) is a valid fuzzy function for  $t \in (0, 0.891621)$  in Figure 2.

#### 4. Conclusions

In this paper, fuzzy initial value problems for fourth-order fuzzy differential equations with positive and negative fuzzy number coefficients are studied by fuzzy Laplace transform. Examples are solved. Graphics of solutions are drawn using the Mathematica program. It is found that the solutions are valid fuzzy functions in different interval. Also, when initial values are triangular fuzzy numbers, the solutions are triangular fuzzy numbers for any t > 0 time.

#### References

- L. Ahmad, M. Farooq and S. Abdullah, Solving fourth order fuzzy differential equation by fuzzy Laplace transform, Annals of Fuzzy Mathematics and Informatics, 12 (3) (2016) 449-468.
- [2] T. Allahviranloo and M. Barkhordari Ahmadi, Fuzzy Laplace transforms, Soft Computing, 14 (3) (2010) 235-243.
- B. Bede, Note on "Numerical solutions of fuzzy differential equations by predictor-corrector method", Information Sciences, 178 (7) (2008) 1917-1922.
- H. Gültekin Çitil, Investigation of a Fuzzy Problem by the Fuzzy Laplace Transform, Applied Mathematics and Nonlinear Sciences, 4 (2) (2019) 407-416.
- [5] A. Khastan, F. Bahrami and K. Ivaz, New Results on Multiple Solutions for Nth-Order Fuzzy Differential Equations under Generalized Differentiability, Boundary Value Problems, (2009), 395714 (2009), doi:10.1155/2009/395714.
- [6] A. Khastan and J. J. Nieto, A boundary value problem for second order fuzzy differential equations, Nonlinear Analysis, 72 (2010) 3583-3593.
- [7] H.-K. Liu, Comparison results of two-point fuzzy boundary value problems, International Journal of Computational and Mathematical Sciences, 5 (1) (2011) 1-7.
- [8] K. R. Patel and N. B. Desai, Solution of Fuzzy Initial Value Problems by Fuzzy Laplace Transform, Kalpa Publications in Computing, 2 (2017) 25-37.
- [9] K. R. Patel and N. B. Desai, Solution of Variable Coefficient Fuzzy Differential Equations by Fuzzy Laplace Transform, International Journal on Recent and Innovation Trends in Computing and Communication, 5 (6) (2017) 927-942.
- [10] M. L. Puri and D. A. Ralescu, Differentials of fuzzy functions, Journal of Mathematical Analysis and Applications, 91 (2) (1983) 552-558.
- [11] S. Salahshour and T. Allahviranloo, Applications of fuzzy Laplace transforms, Soft Computing, 17 (1) (2013) 145-158.
- [12] S. Shirin and G. K. Saha, A new computational methodology to find appropriate solutions of fuzzy equations, Mathematical Theory and Modeling, 2 (1) (2011) 1-10.